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H st
p. 8 RT  BAERGH & Z— KOG TR O3 Hrit R —5
Akt Bt ARy M-101 | M-102 | M-103 | M-104 | T-D1
K
H-3 HAS 2 v £ — 0.0610 0.0620 0.0740 0.0760 0.0770
(Bg/kg)
p. 21 | Activity concentration 0.0610 £ 0.0110 Bq kg?!
p. 21 | Detection limit (Bq/kg): 0.032
p. 21 Bq/kg Uncertainty(k=1)
Activity concentration 0.0610 =  0.0110
H iE
p. 8 RT  HAEGH | Z — KOG EREREB O 53 Hrft R —5
e Bt ARy E M-101 | M-102 | M-103 | M-104 | T-D1
I
H-3 HARG 2 v % — 0.0640 0.0640 0.0770 0.0790 0.0810
(Bq/kg)
p. 21 | Activity concentration 0.0640 £ 0.0120 Bq kg?!
p. 21 | Detection limit (Bq/kg): 0.033
p. 21 Bq/kg Uncertainty(k=1)

Activity concentration 0.0640 =+  0.0120
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H st
p. 25 | Activity concentration 0.0620 £ 0.0110 Bq kg?!
p. 25 | Detection limit (Bq/kg): 0.033
p. 25 Bq/kg Uncertainty(k=1)
Activity concentration 0.0620 =+  0.0110
p. 29 | Activity concentration 0.0740 = 0.0120 Bq kg
p. 29 | Detection limit (Bq/kg): 0.032
p. 29 Bq/kg Uncertainty(k=1)
Activity concentration 0.0740 =+  0.0120
H iE
p. 25 | Activity concentration 0.0640 = 0.0120 Bq kg!
p. 25 | Detection limit (Bq/kg): 0.034
p. 25 Bq/kg Uncertainty(k=1)
Activity concentration 0.0640 =+  0.0120
p. 29 | Activity concentration 0.0770 £ 0.0120 Bq kg!
p. 29 | Detection limit (Bq/kg): 0.033
p. 29 Bq/kg Uncertainty(k=1)

Activity concentration 0.0770 =+  0.0120
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H st
p. 33 | Activity concentration 0.0760 £ 0.0120 Bq kg!
p. 33 | Detection limit (Bq/kg): 0.033
p. 33 Bq/kg Uncertainty(k=1)
Activity concentration 0.0760 =+  0.0120
p. 37 | Activity concentration 0.0770 = 0.0120 Bq kg
p. 37 | Detection limit (Bq/kg): 0.032
p. 37 Bq/kg Uncertainty(k=1)
Activity concentration 0.0770 =+  0.0120
H iE
p. 33 | Activity concentration 0.0790 = 0.0120 Bq kg
p. 33 | Detection limit (Bq/kg): 0.034
p. 33 Bq/kg Uncertainty(k=1)
Activity concentration 0.0790 =+  0.0120
p. 37 | Activity concentration 0.0810 £ 0.0120 Bq kg!
p. 37 | Detection limit (Bq/kg): 0.034
p. 37 Bq/kg Uncertainty(k=1)

Activity concentration 0.0810 =+  0.0120

3/3




